
Matematika 1 (G) BAA008

BAA008 Matematika I (G)
Derivace složené funkce

11.2.2. f : y =
1√

1 + cosx
− 1√

2
ln

√√
2 +

√
1 + cosx√

2−
√
1 + cosx

+ cos2
(π
2
− 1
)

y =
1√

1 + cosx
− 1√

2
ln

√√
2 +

√
1 + cosx√

2−
√
1 + cosx

+ cos2
(π
2
− 1
)
=

=
1√

1 + cosx
− 1

2
√
2
(ln(

√
2 +

√
1 + cosx)− ln(

√
2−

√
1 + cosx) + cos2

(π
2
− 1
)

y′ = −1

2
(1 + cosx)−

3
2 (− sinx)− 1

2
√
2

(
(1 + cosx)−

1
2 (− sinx)

2(
√
2 +

√
1 + cosx)

− −(1 + cosx)−
1
2 (− sinx)

2(
√
2−

√
1 + cosx)

)
=

=
sinx

2(1 + cosx)
√
1 + cosx

+
1

4
√
2

(
sinx√
1+cosx√

2 +
√
1 + cosx

+

sinx√
1+cosx√

2−
√
1 + cosx

)
=

=
sinx

2(1 + cosx)
√
1 + cosx

+
1

4
√
2

 sinx(
√
2−

√
1+cosx)√

1+cosx
+ sinx(

√
2+

√
1+cosx)√

1+cosx

2− 1− cosx

 =

=
sinx

2(1 + cosx)
√
1 + cosx

+
1

2 ·HHH2
√
2

(
�

��2
√
2 sinx

(1− cosx)
√
1 + cosx

)
=

=
sinx(1− cosx) + sinx(1 + cosx)

2(1 + cosx)(1− cosx)
√
1 + cosx

=
�2 sinx

A2(1− cos2 x)
√
1 + cosx

=
���sinx

sinA2 x
√
1 + cosx

=

=
1

sinx
√
1 + cosx

1 Mgr. et Mgr. Jan Šafařík, Ph.D.


